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A parkade can fit at most 100 cars and trucks on its lot. A car covers 100 sq ft, and a truck
200 sq 1t of lot space of 12 000 sq ft. It charges $20 per car and $35 per truck to park these i
veh1cles each week How many of each vehlcle will bring in maximum revenue" | |
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Fertlhzer for a lawn comes in 2 brands as follows

-A lawn needé at least 120 kg nitrogen, at least 16 kg of phosphoric ac1d and at least 12 kg of
potash. Brand A costs $22 a bag and brand B $18 per bag. How many bags of each brand
should be used to minimize the cost? What is the minimum cost?

A= tw A G by AR
- golvl(’aoa%A\Lo Cot=22A +1 ¥R
@ 2 A+ U((’;»f |k

O \ A+ 1=

@ A=0
€ ¢>0




D Wie qagr= Antwer Peite

/ .
A parkade can fit at most 100 cars and trucks on its lot. A car covers 100 sq ft, and a truck
200 sq ft of lot space of 12 000 sq ft. It charges $20 per car and $§5 per truck to park these
vehicles each week. How many of each vehicle will bring in maximum revenue?
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Fertilizer for a lawn comes in ‘2 brands as follows:

~ BrandA | BrandB

- (kgperbag) | (kgperbag) -
Nitrogen ™~ 30 20
~Phc'isphonc; _a'c‘id‘-" 2 4 .
Potash =~ - = 1 4

-A lawn needs at least 120 kg nitrogen, at least 16 kg of phosphoric acid, and at least 12 kg of 6
potash. Brand A costs $22 a bag and brand B $18 per bag. How many bags of each brand )

should be usgd to minimize the cost? What is thw - q Y <2 C 2 | % )
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